DISCOUNT

FU

RNITURE

MYBOBS.COM

ASSEMBLY INSTRUCTIONS FOR
QUEEN HEADBOARD W/LED STRIP

1/3

Cautions: Please read instructions thoroughly before unpacking assembly parts. Sharp, exposed staple tips can cause injury,

1. We recommend that you should assemble this product with the assistance of another person; this will make assembly easier,

therefore, for your protection, please remove any exposed staples used in parking.

and will help to eliminate damage to the product or injury to persons during assembly.

2. Be sure to check all packing materials carefully for small parts that may have come loose inside the carton druring shipment.

3. Please do not over tighten screws or bolts.

4. Please put all parts on a non-abrasive floor before assembly, and follow the assembly steps to assemble your newly
purchased product correctly and efficiently.

HEADBOARD IN COMPLETE

PART LIST HARDWARE LIST
No. Part Description Code. Qty No Hardware Description Code. | Q'ty
A |Headboard Leg (1R & 1L) PCPBSOHBLEG | 2 1 © Flat washer (@1/4" x 1/2") 16
2 Lock h 1/4" "
B | Queen Bed - Headboard Bottom Stretcher PCP850QHSTR 1 ° ock washer (@1/4" x 3/8") PCP850KBHW 16
3 £ Bolt (31/4" x 1 3/4") 16
4 ™~ Allen key (4 x 59mm) 1

wrd
\ N

MADE IN VIETNAM




BOR'S ASSEMBLY INSTRUCTIONS FOR "
DISCOUNT QUEEN HEADBOARD W/LED STRIP DARK
FURNITURE QUEEN FOOTBOARD/ SLATS/ SUPPORTS
MYBOES.COM QUEEN/KING STORAGE SIDE RAILS
PART LIST HARDWARE LIST

No. Part Description Code. |Qty No. Hardware Description Code. Qty

C | Queen Bed Slats PCP850QBSLT | 13 5 | [ |Allenkey (4 x 59mm) 1

D | Bed - Support Leg With Leveler PCPBS0BDSPL | 7 6 Bolt (B1/4" x 1 3/8") 4

E | Queen Rail Storage - Drawer Slat With Drawer Slide PCP8S0QBRAL | 1 7 O Lock washer (@1/4" x 3/8") 4

F | Bed - Footboard Support Leg PCP8S0FBSPL | 2 8 Flat washer (@1/4" x 3/4") PCP850KBHW| 4

G |Cal-King/ King/ Queen Bed - Side Rail Storage Drawer [PCP850KQSRDRW1| 2 9 Screw (@4 x 30mm) 26
10 Screw (03.5 x 10mm) 12
11 \ Handle (300mm x 40mm x 10mm) 2
12 | @mm | Bolt(@5/32" x 1) 4

Leveler

Footboard

Noted : If the up and down sides of storage drawer can't fit with Side rail panel,

N
]

A

Side Rail (Right)

Attach Center Support leg
(F) to slats (E) on the side
with No Visible T-Nut head

please adjust height of support leg (Step 4); If the right and left sides of storage
drawer front can't fit with Side Rail panel, please adjust the end position of
drawer slat where storage glides sit on (Step 5).

MADE IN VIETNAM



AutoCAD SHX Text
T-NUT


BOBIS ASSEMBLY INSTRUCTIONS FOR

DISCOUNT QUEEN HEADBOARD W/LED STRIP DARK
FURNITURE QUEEN FOOTBOARD/ SLATS/ SUPPORTS
MYBOBS.COM QUEEN/KING STORAGE SIDE RAILS

3/3

HARDWARE LIST

Step 7 14 m} Allen key (4 x 59mm)

No. Hardware Description Code. Q'ty
13 @)»»n»ml) BOlt (05/1@! X 1") 12
PCP850KBHW
1

Attach Center Support
leg (D) toslats (C)on
the side with No

Visible T-Nut head

\\ Leveler

Footboard

6 SLATS WITHOUT SUPPORT LEG

Side rail

O—]

7 SLAT WITH 1 SUPPORT LEG

MADE IN VIETNAM



AutoCAD SHX Text
T-NUT


& WARNING: To avoid serious personal injury:

Carefully and strictly follow assembly instructions. Improper assembly of

furniture can result in structural failure, instability of the product, or tip-over.

Monitor and carefully control the assembly components. These include small
parts and hardware that may present a choking hazard to small children.
Bob's furniture should be assembled only by responsible adults and children

should not be involved in the assembly process.

Where provided, wall mounting hardware should always be used as
prescribed in these instructions to anchor furniture to wall. Proper use of the
wall mounting hardware can significantly reduce the potential for furniture

tip-over and crushing injuries.



	WARNING PDF.pdf
	Blank Page




